= AH O
N = 0 &8 AF S & Al A
2000 &= =20l A LB A
2M: 2 AR
Mz o 29 X
CR: 23 2FEo WS F&A (&2 &
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
O| 5| AR It 1,628,907 1,683,676 AB4,769
xgolg 29 X 770,387 890, 144 N~119,757
ol 2Y o LHalg =& 208,903 153,664 55,239
IS5 95 2Y 203,013 147,464 55,549
201 LEtEAY| 148,901 117,263 31,638
01 AlR22ld] 116,036 96,654 19,382
oYLt 2H| 101,226
O™ &2l 1,000,000 x4 3] 4,000
oz ge JIgE ¢ 40,0002 x50 K 2,000
O=J|=s2 HOIZ pVDHE HMZ
10,0002 *1,690H 16,900
OY3aXMETRE 2437 40,0002 x20JH *33| 2,400
O3S &l 1,100& *1,00000 23| 2,200
Ools|2tad MTe2t U = 52,704
. 9|3 OFLHE X} HIZ 20,0002 »1000H 2,000
. CD g9 = 24,080
-HI1EHH (20008 = &) 700,000& 103 7,000
~HI2E A (15]~953]) 17,080,000 17,080
. QB AAT g2t
10,0002 * 1,000 23] 20,000
. Aoy SFHRZ RS2
30,000 10 122 3,600
. BE2tEAN P 6,000 x3E« 142+ 122 3,024
OXXI2E AIHI 50,000& x10H 500
oo 3azadA s M 10,550
., RSB HE M 2,000 *50001 *13] 1,000
. o2 & HE 20,0002 x200H 4,000
., AYE M 45,0002 * 102 %33 1,350
. SIETEIN KA 4,200
-“HEIH(E) 100, 000! *40H 4,000
-ALE 10,0002 x207H 200
Oodsgs g8 ¢ JIE 8,700
. 2 8EsE 48 HEY 100, 0002 *200H 2,000
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cHol: osl2ol fAlg 7 (crol: &2
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree

EEEEEREETES

40,0003 x10Z *43] 1,600
. AEE S JISEEE ARG 5,100
-013}(3%5) 200& *50001 =123 1,200
—Q13}(5+7) 6503 *50001 * 12 3,900
O EAAE S/W 2L 1,272
. POFEE T2 367,000& *3JH4 1,101
. POFEH Z2)H 57,0003 *3H 171
OfIEu=HI 9,600

Oozgs Nlsds A
400,000 x8& »23] 6,400
Oz |35 M= 200,000 *16H x 13l 3,200
o=2g+¢ 1,050

OZLI208 AAAE 22

70,0003 «3EH x53] 1,050
O1l=Hl 130,000& 16 »23] 4,160
02 =323l 32,865 20,609 12,256
0332= & HMAl 3,185
OXSAHAl 945
. HEE 65,0002 »1CH 65
. AT =UE 440,000& » 1CH *22] 880
@)=3=-F=3 1,300
. BRE 700,000& »1CH 700
. EFHE 600,000 1 CH 600
OSZMNERES(AEAA)
50,000& *1CH *23] 100
O sli&E 2= 70,0002 x1CH*12& 840
O ZHI(He) 1,200,000 1,200
OXtg e et| 16,000
OgrRE 7,000,000 = 1CH 7,000
Ood&=+3E 9,000, 000& = 1CH 9,000
OAl 2 EHIRXIHI 12,480
OSHOIX =X 22| 540,000& 123 6,480
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B9 9520 Lfas £ (S5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
ORXBIAZAAE XS4
500, 0002 *122 6,000
202 01| 7,200 7,200 0
01 =LHoitl 7,200 7,200 0
© 2 2/01t] 7,200,0002 7,200
203 YREIH] 7,500 6,500 1,000
038 AMEXAREY| 7,500 6.500 1,000
OYMNSY SUIIBCHH ALHO
2,500,000% 2,500
OMSY UALE B 4T 2,500,0008 2,500
OTFIL U Y, AFXE 43
700,0002! 700
ooNER A3 1,800,0002 1,800
405 XrarESH) 39,412 3,500 3,912
01 TUUSEFHSY] 35.912 0 35,912
CEELZES] 4,730,00021 #2CH 9,460
CEEEREIED] 1,980,000% 4CH 7,920
CENESETEE 275, 00024 +6CH 1,650
OWIZHME HX(1,2524)
7.191,0002 274 14,382
O3lo= 2o MY 500, 0002 +44 2,000
OulHIHOoIE 7Y 500, 00024 +1CH 500
02 SHTY 3,500 3.500 0
OABSBY MM 25,0002 602 1,500
oxgolsleYBE A 25,0002 *802 2,000
o3l 25 AL H3| 5,890 6,200 A310
201 Yeregt) 5,890 6,200 A310
03 A2 5,890 6,200 A310
O07.225 MIHI X X 4,940
Oss= 2 253 150,000 *26% 3,900
OMSHE 24 2 22 7Y
40,0009 +26% 1,040
0¥ o R ALHSHS
475,000% %23 950
AT FES 561,484 736,480 A 174,996
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B Xwols 2% K

ool HEE QEHES (chel &)
SNBSS - MEAY - BES 0l &k o4 e bz 2
o FMuT L EBAME A 60,400 53,400 7,000

201 BH2EH] 6,000 2,000 4,000
03 EAI2ZHI 6,000 0 6,000
OXOHAl 23 =& 6,000
Os8=23 oA g3 /a5 M=l
200,000& »30H 6,000
202 O4Hl 15,000 12,000 3,000
03 22AL20HI 15,000 12,000 3,000
O AFLZ2Al =¥
2,500,000& *3H 23] 15,000
205 2|3l 39,400 39,400 0
03 =UWHbl 20,000 20,000 0
OQAAFT A 10,000,000& 10,000
OodEEs MHz=E 10,000,000& 10,000
04 =20t 19,400 19,400 0
OE, 2o E 2,500,000& x2Y 5,000
O I 1,800,000& *8H 14,400
S|ZES 501,084 683,080 A 181,996
205 2|3yl 501,084 670,290 A 169,206
01 &H &=l 132,000 132,000 0
O &&=l 900, 000& 10 122 108,000
OEXe=h| 200,000 *10E =12& 24,000
02 &= 212,700 389,520 A 176,820
OF=FSECIS) 1,772,500& 108 12 212,700
05 ERIAZSHRFAI 55,000 55,000 0
0¥ =zd 33| 4,800,000& =10 48,000
OUWAZBASE AR B 1,000,000 7 7,000
06 JI&2IURFLY| 78,240 77,600 640
o2d% 2,420,000& x12& 29,040
OESIPS, 1,100,000& x12& 13,200
oaYAAT 900,000& 3 x12& 32,400
OEERAs AJYE 900, 000& »1H *43] 3,600
07 AFHEANRE S 4,200 4,200 0
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Ciol: EEE oMES (19 &
A BB O(B) - NEAY - BAS Of o e Hl R =2
O&= JHEHEAMFEZS 4,000,000& *13] 4,000
OXGAlel &S 2E3
200,000& *13] 200
08 SJA=0AZIRYEZ 8,400 7,938 462
Coa=0AZIRELZ 70,0003 x10Z «12& 8,400
09 SIAIQALRLEZ 10,544 4,032 6,512
Qoa=RALEEHZ 84,4403 x10Z x12& 10,133
OLCEIRALEZ 3,4203x10Y ~ 128 411
HY2AHHI (A AR D) 858,520 793,532 64,988
oIA2HEHI (23 AFR 1) 773,299 695, 182 78,117
olEd 2| 773,299 695, 182 78,117
101 @IAH| 728,279 650,282 77,997
01 JIE= 391,244 360,461 30,783
o0=s3(16%) 363,947
O5=(30&s) 2,961,300& *3H *12& 106,607
o= (265 8) 2,485,400 x2H x 123 59,650
Oor=(10es) 1,605,000 *4H «12& 77,040
o8z (558) 1,154,400 x 1H « 123 13,853
OJl=s8=(1888) 1,786, 1002 +2H « 123 42,867
OJls9=(1458) 1,465,200% *3E *12& 52,748
OJls10=2(58s) 931,800 1Y+ 12& 11,182
OFSFeE =) 363,947,000&*0.9/12 27,297
02 =g 127,334 113,524 13,810
QAlZte 222 8,312& 45| 2Hx16H 122 71,816
Q&= 17,358
OB At 40,0003 16 +0.78+12& 5,991
= - HIS 20,0003 x32H +1.48+ 123 11,367
oxtHdEbBxrY 7,761
(@E=3-=l3mI 420,7903 x4 ZH 43| 6,733
Osgw 51,4003 x5H x43] 1,028
C&EZ=goIe3 14,880
0254 0] &t 130,000 4«12 6,240
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M HH2HAH (S AIRD)
chel: ol 2| (23 AFR 1) (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O20E 0] 425 0] 2t 110,000 *1H x 12 1,320
O154E 0l &~20E 0] et 80,000& x3H »12& 2,880
O10&4 0l &~15= 0] 8t 60,0003 x2H x12& 1,440
O54E 01 &~10& 0] et 50,000 x5H »12& 3,000
OHREREA+E 4,599
Ossi= 122,660 x1H + 122 1,472
Oe=U< 82,3403 x1H x 122 989
Oldls7=t= 89,060& x2H x12& 2,138
Qo At=¢ 10,920
O5= 80,0003 »3E x12& 2,880
O6= 60,000 x2H 122 1,440
O7= 0I5t 50,0003 x11Z«12& 6,600
03 ZFAHZAH 24,960 24,960 0
OZHUZAHI 130,000 x 16 * 123 24,960
04 wnE2B=H| 24,480 24,480 0
o522 140,000 *3H x 12& 5,040
o672 130,000 6 H *12& 9,360
©8=20I|at 120,000& «7H = 12& 10,080
05 ZEFIHI 36,39 33,532 2,863
OZE Sl 363,947,000& *1/12%120% 36,395
06 JFAHIXI&HI 60,780 55,998 4,782
OQJtAH XA HI 363,947,000 *16.7% 60,780
07 HII2 4| 16,176 14,903 1,273
O JtE2 &I
363,947,000% x1/12x1/30%x20 L *80% 16,176
09 RIAHAZZXE=S 46,910 22,424 24,486
OIPSEer= 25,249
(OPIE=-=1 32,000 » 1 «25524 8,160
OZ2FIet3 130,000 1Y x 122 1,560
ORIV, 8,160,000 x 15 *4/12 2,720
OANZIZ2E
4,534 %1 . 5x25 Al 2tx 1B+ 12 2,041




2A: Qs ALR
. HYESIZHI(2AZAIR D)
Chol: ol2i2 bl (2Bl A2 ) (et9l: 22
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
Osg=g 36,2723 x1H 110 3,990
OJ=E=Y 720
. BHX 40,0003 x1H+12& 480
. = - HIS 20,000& x1H 12 240
Onst| 5,000& 1Y 255 1,275
O=&tl 5,000 1% 255 1,275
@)=F=E=l%:] 400,000 x 1 *23| 800
OIAHE Z=HI 8,160,000 * 1 *30% 2,448
oz2= 7Y 130,000& 1 x23] 260
oo RA 21,661
OPIR=3= 32,0003 1 255! 8,160
(OF==—W F= 10,0002« 1H «12& 120
(@OF g0 = 8,160,000& *1H *4/12 2,720
OAlZteI222Y 4,493 x1,5x25A] 2¢ 169
OFgY 35,9443 1Y x110 3,954
ONEsxg 480
. =.HIS 20,0003 x2H =12 480
Onst| 5,000& 1Y 255 1,275
O=&tl 5,0003 x 1 255 1,275
@)=F=E=/%:] 400,000 x1H *23| 800
OIAHE Z=HI 8,160,000 * 1 *30% 2,448
oz2= 7Y 130,000& * 1 »23] 260
203 YRE=FY| 5,480 5,480 0
02 HAINMHRFEHI 1,280 1,280 0
OFRIMMERF=&| 80,000& =16 1,280
04 EN2ILRFLEYI 4,200 4,200 0
OFRM2IEHERF&I 350,000 x12& 4,200
204 P AHH| 39,540 39,420 120
01 H¥SHSHAH| 4,200 4,200 0
O©53 100,000& *3H *12& 3,600
062 (M) 50,000& *1H x12& 600




M A ALR L
M HHE2FHHI (2SI A2 D)
Chel: ol 2| (Bl AR D) Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
02 Hg22H 28,140 28,020 120
O5= 250,000 3 x 12 9,000
Ob= 155,000& 2 x12& 3,720
or= 140,000 «4H x 122 6,720
08~9= 105,000 6 H 122 7,560
©JIs102 95,000 x1Z « 123 1,140
03 SHYR+-HEZH 7,200 7,200 0
oulg=dl(6=0lat) 50,000 x 12+ 123 7,200
JI2AHI (2B AR D) 85,221 98,350 A 13,129
JI=ZHl 85,221 98,350 A13,129
201 BRI 39,141 52,270 A13,129
01 AtR2&cldl 35,241 45,970 210,729
OgBt=ZH| 11,625
OBdHA2H 11,625,000& 11,625
O=gt| 18,816
OsdHA2H 18,816,000& 18,816
ogx=z 4,800
O= A 200,000 »2CH 12 4,800
02 232944l 3,900 6,300 A2,400
0332= & HMAl 3,900
(OFSk= 3T 200,000& *12& 2,400
OSNESE RERS 1,500,000& 1,500
202 OHl 46,080 46,080 0
01 SLHAHI 46,080 46,080 0
OZLHN bl 46,080, 000& 46,080




